Discussion 10B Notes

@ O “am r u\eS:
P p (0 \OEAL ORAMP
Rehave like REHAVIOR

open circoits

Ezul.lla,cn-,- + Rehahaves \ike \loH'ase ()
Cirevit (/4 sooree Vo= A (%,-22.),
Model : where A= .

2_‘ \A/“\a+ ace -\-ke QU\"PCT\""S $|owmj iﬂ‘\'o
the 2% +ecminals?
Iy_}_ L Iy._ = O

L] ¥ we conneet a resistor Ry across Ubor,
does 2, .. Ckanjc?

No / Z/au-r"' (s /.no/CPCnC/cfﬁl o-ﬂ PL 75’.'706 oLl
afF—amt= moole/ OU"“PU"‘ S a Vo/vtaje souree,



%Consio\er He cCircut:

N
® What is ur Sor an ideal
op-amp (A"OO) e

No Considec Linike A and

fond Uyt
Some

5am°Node dodb
Vin = U = U —p

A—)oo ioleal

neqotive- Leedloack _
/ Coandn'hoﬂ Z(our- A (}/'_7/)'

Z(1+A) = AV;n

(% - )= Uur )
| ( + ') u z/ou‘r' m)\/

Z/ou-r




@ Camp arators

For the Sollowin C'\PCU“\'S, plot Upor (V) on

A~ 0°

the domain Vi€ [0 +10]V;







